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B z3 ) £ B z3 ) £
108 El; 15.5 18.8 12.9 71.4 81.8 48.0
o =} 13.9 17.9 11.2 61.3 78.2 43.6
e s 13.4 16.4 11.2 71.6 89.9 48.6
O F% 9 A=A AY $ A2 B uE dxe % Woks
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=% et H2EE 102 Y222 202 o=2EE 108 222 20
A 2 1.8+0.5 3.6£0.9 67.8 100.0
= 2F2|st 4.1%1.7 7.4+19 84.8 100.0
¥ 2 2.7+09 51£1.6 93.4 100.0
A2 1.5+0.2 3.0£04 18.2 86.4
CHA QE2|5} 3.5%£1.0 58%1.6 23.8 93.7
o 2 1.1+0.3 3.2%£0.6 64.2 91.0
A 2 1.7+0.2 25204 28.7 92.0
=0 2[5t 2.9+0.7 5.3+1.1 81.3 97.5
o4 2 1.4+0.3 2.3£0.6 88.6 100.0
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s 3 e J2E 02 d2E@ 108 YREE 20¥
A =2 12.6 14.1 14.4
4 At 14.6 13.2 13.7
g =2 14.1 13.3 14.9
= 17.8 16.4 17.6
CHA Ha|st 18.8 18.0 17.9
d 2 19.2 20.7 18.3
= 14.9 15.0 14.6
40 st 16.4 16.4 17.6
g =2 16.5 18.3 17.4
O #3F ¥ A=A & v
=3 NEES J2E8 0Y d223 108 Y2E# 20¥
A 2 1.059 1.062 1.057
4 H|st 1.057 1.055 1.053
d 2 1.057 1.056 1.061
A 2 1.072 1.069 1.070
CHA At 1.070 1.069 1.069
g 2 1.072 1.073 1.072
A 2 1.060 1.062 1.064
0 H|st 1.065 1.062 1.061
g 2 1.069 1.067 1.071
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